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% -% # ( '
*$
. Interannual
Initial R
Comment TAC Auw Adown P b change Cap
constraints
Slope-based tuned to 2016
CMPal . 6550 2.0 2.0 10 - +20%; -20% 20000t
median catch of 10000t
Slope-based tuned to 2016
CMPa2 . 9000 3.0 3.0 10 - +20%; -20% 20000t
median catch of 15000t
Target-based tuned to 2016
CMPb1 i 6550 - - - 17120 9500 +20%;-20% 20000t
median catch of 10000t
Target-based tuned to 2016
CMPb2 . 6550 - - - 20440 7000 +20%;-20% 20000t
median catch of 15000t
% -1+ ( 48/ 12
! $ % 99 3 9 1&
99 9 3 9 1% +
$
CMPal-RS CMPa2 -RS CMPb1 - RS CMPb2 - RS
T g+t 1.49  (0.36; 4.02) 1.32 (0.25; 3.79) 1.67 (0.28; 3.95) 1.35 (0.20; 3.57)
== g 2.93  (0.62; 9.50) 1.93 (0.34; 7.63) 3.34 {0.29; 9.15) 1.94 (0.22; 7.71)
P aoselP oo g*® 5.04  (1.60; 10.00) 3.95 (1.24; 8.79) 5.21 {1.59; 10.38) 4.36 {1.29; 9.00)
B¥ 6.32  (2.02; 12.70) 4.63 (1.50; 10.58) 6.68 (1.87; 13.21) 5.48 (1.54; 11.63)
- g+t 6.05  (1.56; 14.57) 5.40 (1.07; 13.64) 6.62 (1.21; 14.73) 5.44 (0.86; 12.43)
B 15.00 (3.32; 38.57) 9.87 (1.75; 29.09) 17.04  (1.55; 38.42) 10.06 (1.15; 29.94)
P oo/P o g*® 5.86  (0.72; 15.28) 5.52 (0.72; 15.01) 6.11 (0.66; 15.41) 5.53 (0.44; 14.85)
B¥ 15.65  (0.91; 52.09) 14.09 (0.85; 49.67) 17.58 (0.80; 52.61) 13.99 (0.57; 50.56)
Probe<P g g+t 0.00  (0.00; 0.29) 0.05 (0.00; 0.38) 0.00 {0.00; 0.38) 0.05 (0.00; 0.43)
B¥ 0.00  (0.00; 0.14) 0.00 (0.00; 0.24) 0.00 {0.00; 0.19) 0.00 {0.00; 0.33)
Caon 7860 (7860; 7860) 12600 (12600; 12600) 7860  (7860; 7860) 7860  (7860; 7860)
Caonz 9432  (8023; 9432) 16646 (12993; 17640) 8680  (8503; 9432) 9432  (9432; 9432)
Cons 9518  (6566; 11318) 16795 (10559; 20000) 8245  (7800; 9756) 11318 (11318; 11318)
Caos 9660 (5291; 13582) 16387  (8447; 20000) 8775  (7990; 11010) 13582 (13582; 13582)
Cans 9846  (4259; 16298) 15639  (6825; 20000) 9280  (8070; 12340) 14591 (13765; 16298)
Caos 10008 (3635; 19459) 14948  (5529; 20000) 10009  (8144; 13722) 15002 (13788; 17980)
Caom 17995 (4152; 20000) 20000  (4837; 20000) 14322 (8362; 20000) 16651 (13786; 20000)
Ca011-2015 9273  (6455; 11698) 15821 (10314; 18048) 8590  (8088; 9977) 11357 (11191; 11698)
€ 2016-2020 12890 (3570; 19815) 15206  (5194; 20000) 11697  (8413; 16158) 15694 (13889; 18992)
C 2011-2020 10801 (5263; 15683) 15237  (8301; 19024) 10203  (8362; 12632) 13545 (12557; 15320)
C 2021-2030 18072 (7839; 20000) 18916  (8221; 20000) 17492  (8478; 20000) 18091 (13872; 20000)
AAVa011-2000 19.5  (16.7; 24.4) 33.0 (25.0; 41.5) 16.5 (11.9; 20.9) 17.4 (15.3; 20.1)
AAV3012-2000 12.0 (8.8; 17.5) 14.4 (5.6; 23.9) 8.7 (3.5; 13.6) 9.7 (7.3; 12.7)
AAV;021.2030 7.0 {0.0; 18.4) 6.0 (0.0; 22.4) 7.3 {0.1; 13.5) 2.9 (0.0; 6.8)




% -!+ ( 48/ 12
! "$( (5 *$

CMPal - Rob3 CMPa2 - Rob3 CMPb1 - Rob3 CMPb2 - Rob3

Passt/P s g+t 0.71  (0.34; 1.48) 0.63  (0.23; 1.36) 0.59 (0.20; 1.33) 0.53 (0.15; 1.20)
£ = 0.84  (0.35; 2.01) 0.66  (0.22; 1.68) 0.62 (0.20; 1.55) 0.51 (0.14; 1.25)

P21/ s +8 1.31  (0.58; 2.41) 1.18  (0.56; 2.07) 1.29 (0.59; 2.59) 1.18 (0.53; 2.12)
s 1.71  (0.76; 4.07) 1.44  (0.69; 2.97) 1.67 (0.76; 4.90) 1.49 (0.69; 3.73)

P oot/ o g+t 2.88  (1.47; 4.91) 258  (1.00; 4.41) 2.41 (0.85; 4.19) 2.19 (0.65; 3.91)
g 430 (1.85; 7.70) 334 (1.16; 6.02) 3.18 (1.03; 5.87) 2.56 (0.75; 4.54)
Pt/ g+t 6.46  (1.02; 15.20) 5.46  (0.60; 14.02) 6.17 (0.49; 14.78) 5.07 (0.42; 13.66)
g 22.04 (1.69; 56.61) 13.56  (0.87; 44.29) 17.68  [(0.57; 46.70) 9.45 (0.55; 34.05)

brobe? sy g+t 0.10  (0.00; 0.43) 0.14  (0.00; 0.57) 0.14 (0.00; 0.71) 0.19 (0.00; 0.71)
g 0.00  (0.00; 0.33) 0.05  (0.00; 0.43) 0.00 (0.00; 0.53) 0.05 (0.00; 0.53)

Caon 7860  (7860; 7860) 12600 (12600; 12600) 7860  (7860; 7860) 7860  (7860; 7860)
Caonz 9432  (7933; 9432) 16559 (12776; 17640) 8674  (8499; 9432) 9432  (9432; 9432)
Caois 9274  (6450; 11318) 16233 (10220; 20000) 8185  (7774; 9661) 11318 (11318; 11318)
Caoia 8744 (5160; 13582) 14769  (8176; 20000) 8532  (7864; 10673) 13582 (13582; 13582)
Cao1s 7677 (4128; 16248) 12100  (6541; 20000) 8574  (7835; 11212) 14114 (13596; 16032)
Caos 6400 (3302; 17851) 9965  (5233; 20000) 8584  (7854; 11159) 14090 (13612; 15785)
Caon 4358 (2039; 14141) 5006  (2784; 18379) 8634  (7878; 11107) 14000 (13624; 15481)
Cap11-2015 8617 (6329; 11685) 14431 (10063; 18048) 8409  (7986; 9674) 11261 (11158; 11645)
C2015-2020 4822 (2537; 15804) 6997  (3979; 15639) 8607  (7905; 10450) 14072 (13641; 15017)
Cap11-2020 6784 (4452; 13493) 10854  (7161; 16626) 8512  (7979; 9836) 12672 (12409; 13284)
C 20312030 9062 (4060; 17964) 14388  (5818; 19475) 11324  (8040; 15673) 15059 (13748; 17930)
AAV 0112020 224  (15.2; 25.9) 365  (28.3; 40.1) 12.5 (11.0; 16.4) 15.7 (14.9; 18.0)
AAV 0133020 15.2  (7.2; 19.1) 18.4 (9.2; 22.3) 4.3 (2.5; 8.6) 7.8 (6.9; 10.4)

AAV 30313030 17.7  (7.0; 20.0) 18.1 (5.5; 27.9) 8.1 (1.3; 12.9) 2.8 (0.5; 6.0)
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